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EV0
EV1
EV2
EV3
EV4
EV5
EV6
EV7
EV8
EV9

-0.09 0.80 -0.30 0.26-0.44 0.04 0.02 0.02 0.02

0.14 0.26 0.94 0.08-0.15 0.01-0.03

-0.97 0.04-0.01-0.03 -0.010.04 0.16 0.04-0.060.03 -0.070.02 0.14 0.03

0.10 0.09 0.04 0.01-0.010.03 0.01 0.04-0.60-0.03-0.08 -0.05-0.14-0.010.10 0.76 0.01

0.07 -0.410.12 -0.01-0.180.41 0.04-0.520.37 -0.100.16-0.40-0.020.10 0.01-0.01

-0.12 -0.17-0.070.01 0.01 0.04-0.14 0.10-0.710.18 0.28 -0.090.04-0.10-0.24 -0.45-0.100.03

-0.14-0.080.01 -0.060.05-0.15 -0.870.05 0.19 0.18-0.02-0.01 -0.140.17-0.04-0.17 0.18-0.05-0.02

-0.02 -0.20-0.18-0.02 -0.280.07-0.100.02 0.33 0.07 0.11 0.05 0.10 0.76 0.12-0.14 0.26 0.09-0.04

0.03 -0.18-0.030.05 0.39 0.08-0.27 0.31 0.32 0.36 0.32 0.04 -0.12-0.25-0.18-0.230.02 0.28-0.150.18

-0.010.02-0.02 0.03-0.05-0.02 0.80-0.010.06 -0.12-0.11-0.08-0.030.02-0.03 0.45 0.30 0.09 0.03-0.01-0.020.04-0.09

138 fb 1 (13 TeV)CMSPreliminary
 = 499589.612
 = 118374.210
 = 106.874
 = 8.133
 = 2.133
 = 0.535
 = 0.096
 = 0.039
 = 0.021
 = 0.006


